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OEF 1 BHE
1. 2 BMILEIEBCHEIA

=3 o HE B EHE k=
CER ZNY NURHARR 15,868m 5[ 79,340m
e HEWEA 15,868m 3[a] 47,604
R R ERRE B IEER 15,868m 2[8] 7,934 |7fro25x2
FRE N7 -FHFIGA 15,868m 2[A] 3,173 |2 wko1x2
EHRIpRE 15,868m 2[A] 15,868 | RKwko5x 2
EithEF 15,868m 13 15,868
Z By 1=
2. MAEEEA
X o HE B ERHE &5
CER ALY NIRHAER 8,998m 5[ 44,990m
e A Kl 8,998m 3[a] 26,994m
" RERRRR B IEER 8,998m 2[A] 4,499 7 |2tuho2s x2
BRE N7 -FHFIGA 8,998m 2[a] 1,799 M | 2twko.1 x 2
EHIpRE 8,998m 2[a] 8,998} | RKvho5x 2
ESpsubgic] 65,354m 13 65,354
ZNY BIER 300m 5[a] 1,500m%
Z By S
LA EmERE HEBRE BE ZEm| 950m 5[a] 4,750
Z By S
3. bU-IEE. . NOENIVEIAD
X o HE B EE =
CER ALY NIRHAER 3,207m 5[ 16,035m
e HEWEA 20,046m 3[a] 60,1381
fm R ERRR B IEER 20,046 2[8] 10,023 7 |=tvho2sx2
BRE N7 FHFIGA 20,046 2[A] 4,009 | RAwk0.1 x 2
EHIpRE 20,046m 2[d] 20,046 |zAvro5x2
EithER 45467m 13 45467m
ZNY BIER 18,435m 5[a] 92,175m
Z B IES
Hih T8 HEBRE BE ZEm| 2,854m 2[a] 5,708
Z By S
4. AR—YIi5, VIrR—)LiG . X FHakiEBRE I
X b HE B EHE &5
CER ZNY NURAHARR 7,582m 5[ 37,910m
e A Kl 7,772m 3@ 23,316
R RERRRR B IEER 7,772m 2[A] 3,886 |<Aho25x2
BRE N7 -FHFIGA 7,772m 2[A] 1,554 | 2wko.1 x2
EHIpRE 7,772m 2[a] 7,772 [z kvrosx2
ESpsubgic] 25,498m 13 25,4981
ZNY B 190m 5[a] 950mt
Z By S




5. 2455, T=X3—rABE:D

X 9 HE B ErE ik
TEHE D) NIRHARR 11,408 m 5[] 57,040m
il | HEWE A 24.873m 3[] 74,619m
fm R ERRR BHEZR 24.873m 2[a] 12,436 [=vto2sx2
BRE AN EFIGE R 24.873m 2[a] 4,974 | RAKwho.1 x 2
EHIpRE 24.873m 2[d] 24,873m |Avho5x2
EithiEE 25,498m 1[3] 25,498 m
ZNY EIER 13,465m 5[a] 67,325m
Z By IES
6. MR FFERIBA, ETHIGAE D
X b H= B EiEH= ik
TEE D) NIRHARR 7,061Tm 5[] 35,305m
il B A 7,061Tm 3[a] 21,183m
m R ERR BHEZR 7,061Tm 2[E] 3,530 |* k025 x2
BRE A7 EFIGE A 7,061Tm 2[a] 1,412 |7vko1 x2
EHIpRE 7,061Tm 2[E] 7,061 m |xAvro5x2
E AR 20,622m 1[8 20,622m
Z By 13




ORFE2BMHHRE

1. XM UEEIG T=RIFEE
X

o = B = ik
TERE D) NIRHARR 26,154m 5[] 130,770m
il o HEWEA 26,154m 3[] 78,462m
m RERRR BHEZR 26,154m 2[E] 13,077 |#Kvho2s x2
BRE AN J1-EFIGE A 26,154m 2[8] 5,230 [z Avro.1 x2
EHIpRE 26,154m 2[a] 26,154 |=Avko5x2
E AR 33,377m 1[@ 33,377m
THEEYY 4500m 1[8] 4500m
Z By 13
2. BELALE, LW LDIEBN EER
X ) HE B EiH= ik
TEHE il HEMR A 22,860m 3[a] 68,580m
m R ERR BHEZR 22,860m 2[E] 11,430 |#Kvho.25 x2
BRE A7 EFIGE R 22,860m 2[a] 4,572 | RAKoko.1 x 2
EHIpRE 22,860m 2[d] 22,860m |AAvro5x2
EihEiR 25,498m 1[8 25,498 m
Z MY EIER 22.860m 5[] 114,300m
ZHEHEYY 4,000m 1[8] 4,000m
Z By IES
BELHAHLIG ZNY iBh 21,910m 4[g] 87,640m
ZALY EiER 2,680m 4[g| 10,720m
ZHEAE B A 24,590m 2[a] 49,180m
ZimRERR BHEZR 24,590m 2[a] 12,295 [=#kvto2s x2
BRE A7 EFIGE R 24,590m 2[a] 4,918 | RAKwko.1x2
EHIpRE 24,590m 2[a] 24,590 [=Avko5x 2
THEEYY 1,300m 1[3] 1,300m
Z By IES
3. ELREIBRAD
X b H= Bk EiEH= ik
TEHE D) NURAARRK 17,302m 3 51,906m
il o HEWEA 17,302m 2[a] 34,604m
m R ERRR BHEZR 17,302m 2[a] 8,651 M [rkvro2sx2
BRE AN J1-EFIGE A 17,302m 2[8] 3,460 | RAKwho.1 x 2
EHIpRE 25,498m 1[3] 25,498 m
EihEiR 17,302m 5[a] 86,510m
THEEYY 4,000m 1[8] 4,000m
Z By 13
4. IN—HF—LRE3
X 5 HE B EiEH= ik
TEHE D) NIRHARER 5741m 5[] 28,705m
il | HEWEA 14,804m 3[a] 44412m
fm R ERRR BHEZR 14,804m 2[a] 7,402 |z koro2s x2
BRE AN EFIGE R 14,804m 2[8] 2,960 | RAKwko.1 x 2
EHIpRE 14,804m 2[8] 14,804 [=Awrosx2
EihiEE 5,000m 1[3] 5,000m
Z MY EIER 9,063m 5[] 45315m
Z By IES




5. WCLDEE., T=XO—FCDREUK, {BEIBHERE

X 9 HE B ErE ik
TEHE il B A 7,400m 6[a] 44,400m
(F47b0) fm RERRR B HIEZR 6,364m 4[g] 25,456 m
BRE A 71-EFIGE R 6,364m 2[a] 1,272 |2vko1 x2
EHIpRE K~F 7,400m 1[@ 7,400m
EHIpRE N 7,400m 1[@ 7,400m
TIEGBHFIERG | B 7,400m 1[3] 7,400m
EE- & 7,400m 1] 740m | Rvko.1 x 1
Z By IES
TEE ZMY iR 6,993m 4[@] 27,972m
@974 ZNY EIER 1,779m 4[g| 7116m
il | Nk S 10,437m 2[a] 20,874m
fm R ERRR BHEZR 10,437m 2[a] 5,218 |=kwro2s x2
BRE AN 71-EFIGE R 4999m 1 499 |=Awro1x2
EHIpRE E~8 10,437m 1E 5,218 |*Avho5x 1
EHIpRE 3 LA 10,437m 1[@ 5,218 |=Avro5x1
EHIpRE N 10,437m 1E 5,218 |xAvho5x 1
Z By 13




RS ELHRE
1. 2EMILEIBBCE:Z
=3 ) HE B ErE ik

aBAREE fm R ERRR C=29cmidTF 210K 2[E] 427K [zAvro1 x2

fm R ERR C=30—59cm 278K 2] 554 |2 wko.1 x 2

m RERRR C=60—89cm 125K 2[8] 257K [ RAwR0.1 x 2

m R ERRR C=90cmilt AR 2[a] 17 [zAwk01 x 2
hAREHE i 253K 1[@ 2537

il | HEE- B 2:1) 281m 1[@ 281m

& REHR 561m 2[@ 112 | ztwho1 x 2
EREE N[5A 7,495m 1[8] 7,495m

ERBIE 3,919m 13 1,567 | Réohoax

il | SHFE- B (2:1) 7171m 1 7171m

fm R ERR 7171m 2[8] 1,434 |Rtwbo1 x2

fm R ERRR RIF|E A 7171m 2[8] 1,434 M |Rtwbo.1 x2
HEA 1R M FERRE AAB 41,190m 3[] 24,714 |zvro2x3

EHIpRE EIENE 6,865m 1[E] 2,059 [zAvk03x 1
NSEEE i EES 2147K EE B H | Rt R

TWE K= 214K EE W | B

b 214K pEN=Y W E | IR

FEES 214K pEN=Y R | IR

BRE WE B | IRt FEER

i BWE B | IR R

fm R ERRR WE B | IRt AR

INTEEE- B F WE B | IRt R
2. MAERAZR

=3 ) H= Bk EiEH= ik

aBAREE fm R ERRR C=29cmidTF 364 2[8] 7A [zAvr01 x2

m RERRR C=30—59cm 6447 2] 1282 [z #vr01 X2

fm R ERRR C=60—89cm 2004 2] 587|201 x 2

m RERRR C=90cmil t 947K 2[@] 184N | R wh0.1 x2
hRKEHE i 1,638 1[@ 1,6387

il o HE- B 2:1) 1,448m 1[3] 1,448m

m R ERR 3,005m 2[d] 601 i |=xeuro1 x2
EREE N5A 5,409m 18] 5,409 m

ERBIE 2,866m 13 1,146 | Rtwhoax 1

il | SHFE- B (2:1) 4.342m 1[3] 4342m

m RERR 4342m 2[d] 868 |=iwho1x2

ym R ERR R 4342m 2[a] 8687 |xtvko1 x2
HEA 1R g FERRE AAB 16,728m 3[E] 10,036 | xAKwho2x3

EHIpRE EIENE 8,260m 1[3] 2,478 | xAvh03x 1
MBI TE TS 3E C=29cmBlTF 2K 1[@ 2K

IS RE C=30—59cm 2K 1] 2K

FAEE C=60—89cm 237 1[H 237
BAEREIE ANDBRE HEIA A 34m 4[g] 136m

HERKRE HEIAMIA 34m 2[a] 68m
BERERUVLBERE |[ERRE AAB 1,650m 3[a] 4,950m




3. bUCER, BiEBAEAD

=3 ) HE B ErE ik
aSAREE fm R ERRR C=29cmidTF 727K 2[d] 142 | 2K wko.1 x 2
fm RERRR C=30—59cm 949K 2[a] 1894 [z #wr01 x2
m R ERRR C=60—89cm 4737 2] 94 |2 Awko.1 x 2
m RERRR C=90cmkl Lt 354 2[g8] TAR | zKyr01 x 2
hAREE i 1,273 1[@ 1,2737
il | SHFE- B (2:1) 1,078m 1[@ 1,078m
fm R ERRR 2,533m 2[d] 506 M |=Awko.1x2
EREE WJ5A 7.133m 1[@ 7,133m
ERBIE 5,384m 1] 2,153 [zAvko4x1
il H- B 2:1) 6,914m 1[3] 6,914m
m RERR 6,761m 2[E] 1,352 |Rtwko1 x 2
fm R ERRR R 6,761m 2[a] 1,352 | 2uko.1 x 2
HEA 1R g FERRE AAB 12,901m 3[E] 7,740 [z &vro2x3
EHIpRE EIENE 6,451m 1[3] 1,935 [=Avhoax1
4. AR—YIEH, VIrR—IL8, X FERIBEBE T
X ) HE B ERiE ik
BAEHE fm R ERRR C=29cmPTF RES 2[E] 127K | 2Hvko1 x2
m RERR C=30—59cm 164K 2[8] 32K |z Avk0.1 x2
m R ERRR C=60—89cm 1864 2[a] 37| =Avr01x2
m RERR C=90cmil t 927K 2[m] 18K [=yr01x2
hREE TI%E 3687 1[@ 3687
il | SHFE- B (2:1) 185m 1[@ 185m
&R EHR 370m 2[@ 74| zAtro1 x2
EREE N5A 3,384m 1[8] 3,384m
ERBIE 1,956m 13 782 |z #vko4x 1
il | SHFE- B (2:1) 2,348m 1[@ 2,348m
fm R ERR 2,348m 2[d] 4691 [=Atro.1 x2
m R ERRR R 2,348m 2[a] 4697 | 2euro.1 x2
HEA IR g FERRE AAB 13,973m 3[] 8,383 [x#vho2x3
EHIpRE EIENE 13,973m 1[3] 4,191 |=Avho3x 1
5. CERB. T=X3—FEZ
=3 5 H= B EieH= ik
aBAREE fm R ERRR C=29cmPTF 21K 2[d] 5 [zAwb01 x2
fm R ERRR C=30—59cm 1614 2] 32 |2 Awro1 x2
fm R ERRR C=60—89cm 827 2[q] 164 [z Kwr01x2
m B ERR C=90cmllE 1264 2[E] 257 | ZAwR0.1 x 2
hAREHE TI5E 4067 1[8 4067
il | H- B 2:1) 296m 1[3] 296m
&R EHR 796m 2[@ 159 |z ho.1 x 2
EREE N5A 1,587m 1[3] 1,587m
ERBIE 63m 1[3] 25m [rAvr04x1
il Hf- B 2:1) 1,284m 1[@ 1,284m
fm R ERR 1,284m 2[d] 256 |=Awko1x2
fm RERRR RFE A 1,284m 2[E] 256 |=Awko.1x2
A E R g FERRE AAB 5,925m 3[a] 3,555 |2#vho2x3
EHIpRE EIENE 4,664m 1 1,399 | Rtéwho3x 1




6. XA IFEKIBA, EHEIBARD

X 9 HE B ErE ik

aBAREE fm R ERRR C=29cmBl T 16974 2[5] 334 |z Avro1 x2

m RERR C=30—59cm 336K 2[a] 674|201 x2

m R ERR C=60—89cm 224K 2] 44K |2 Avr01 X2

m R ERRR C=90cmlt (S o[ 1%
hAREE E 6917 1[@ 691K

il | SHFE- B (2:1) 567m 1[@ 567m

m R ERRR 1,395m 2[E] 279 |=Awro1x2
BEAREHE WJ5A & 2,838m 1[@ 2,838m

ERBIE 1,913m 1] 765m |zAvko4x 1

il H- B 2:1) 2,201m 1[@ 2,201m

m R ERR 2,201m 2[E] 440 |=Aoko1 x2

fm R ERRR R 2,201m 2[E] 4407 |20 x 2
HEA 1R g FERRE AAB 9,328m 3[E] 5,596 [ #vh02x3

EHIRE EEIE 4,664m 13 1,399 | Rtéwho3x 1
7. AMUBEHE, T=XIBAD

=3 ) HE B ERiE ik

BAEHE Jm RERHRR C=29cmLlTF 634 2[d] 127 | 2Aur01x2

m RERRR C=30—59cm 13574 2[a] 27| = Avr0.1x 2

m RERRR C=60—89cm 437K 2[[] 8| R Rwr0.1x2

m RERRR C=90cmil t 237 2[m] 47K | R RYR0.1 %2
hREE RE 937K 1[@ 93K

il | SHFE- B (2:1) 47m 1[@ 47m

fm R ERRR 47m 1[3] 4 [z#vro1x2
BEAREE il HFA- B (2:1) 5,042m 1[8 5,042m

fm R ERRR 5,042m 2[d] 1,008 |Ritwbo.1 x 2

m R ERRR RFA A 5,042m 2[E] 1,008 |Rtwho.1 x 2

{EARN]3A SR KRR 1,015m 1[@ 1,015m

{EARNIA &5 4027m 1[3] 4027m

ERBIE PP 2,529m 1 1,011 |=Avroaxi

BERRE AN 5,042m 3[] 4,537 m |2 #vr03x3

ERIBRE EELE 5,042m 1[@ 1,512m |*&vrosx1
HEA 1R g FERRE AAB 135m 3[a] 81mi|zAtvro2x3




8. BELAEH. WCLWDEIBED

X ) HE B ErE ik

BAREE fm R ERRR C=29cmidTF 787K 2[d] 152 | RAKwko.1 x 2

m RERRR C=30—59cm 547K 2[q] 10 [=Kyr01 x 2

m RERRR C=60—89cm 427K 2[m] 8| R Rwk0.1x2

m R ERRR C=90cmkl Lt 70K 2[g8] 147K [zKyr01 x 2
hAREHE i 387K 1[@ 38K

il g SHFE- B (2:1) 19m 1[@ 19m

& REHR 19m 1E] 1| zAvko1 x2
BEAREHE ERBIE 3,007m 1] 1,202 | Rtéwhoax 1

il | H- B 2:1) 3,007m 1[@ 3,007m

A= HEERR 3,007m 2] 601 i |=Awro1x2

A= HEERR RFA A 3,007m 2[8] 601 i [=Atwro1x2

{EARN]3A A REE 477m 2[a] 954m

{EARNIIA &% 2,530m 1[3] 2,530m

BERERE AAB 3,007m 3[] 2,706 | 2Avh03x3

EHIpRE EELIE 3,007m 1[3] 902 |zt x 1
HEA 1R M FERRE AR 260m 3[] 156 |2 Avr02x3

Hh 4% $8 e AE - B (2:1) 260m 1[3] 260m

BEitmRESR 260m 2[a] 521 |=Atwko.1 x 2
VAFEEE 4 FE N 5A H 223m 3[a] 669m

M FERRE AAB 223m 3[a] 1331 |2 kvr02x3

Hh 4% $8 e AE 223m 1[@ 223m

BitmRENE |55 223m 2[a] 441 | 2Atur0.1 X 2
BELHILG
aBAREE BARFEREMBEE  [C=29cmllT 38K 2[d] 72 [zAvb01 x2

EABHRERER  [C=30—59%cm 247K 2[E] 47K [z Avr01x2

BREEERRR C=60—89cm 19K 2[E] A | Rty x 2

BAREEERR C=90cmblE 2024 20 ] 4| R0 x 2
hRKEE AR RE 497K 1[@ 497K

th AR fE AR HE- B 2:1) 25m 1[3] 25m

h AR SE R EFLBR 25m 2[@ 51| RA¢ko.1 x 2
BEREE {EARKEAE HE- B 2:1) 885m 1[3] 885m

{BEARIRREHR 885m 2[5] 177m |2kvr01x2

BRBERERR  |[FFIEA 885m 2[8] 177m |2Avr01x2

{EARNIA PP 152m 1[3] 152m

{EARN]3A A REE 374m 2[a] 748m

{EARN]A &% 360m 1[@ 360m

ERBIE PPz 152m 1[3] 60 | xAcr04x 1

BERERE AAB 885m 3[] 796 | RAKvk03 %3

{BERFEFIPRE EIENE 885m 1[3] 265m1 |=Atwrosx 1
HEA 1R g FERRE AAB 1,329m 3[E] 797 | RKwko2x3

Hh 4% $8 }e AE - B (2:1) 1,329m 1[3] 1,329m

BEitmRENR 1,329m 2[8] 265n7 |2uko.1 x2




9. B L BREIRE D

X 5 HE B ErE ik

aBAEE fm R ERRR C=29cmidTF 534K 2[d] 102 |z vho.1 x 2

fm RERRR C=30—59cm 787K 2[q] 15K [=Kyr01 x2

m RERRR C=60—89cm 127K 2[m] 27K | R Rk0.1 %2

m R ERRR C=90cmkl Lt 287 2[g8] 5 [zKyr01x2
hAREE E 1487 1@ 148K

il | SHFE- B (2:1) 74m 1[@ 74m

fm RERRR 74m 2[E] 141 | RAKvko.1 x 2
BEAREE ERBIE 1,556m 1] 6221 | =Acyr04x 1

il | HE- B 2:1) 2,599m 1[@ 2,599m

A= HEHRR 2,599m 2] 519 [=Awko1x2

A= HEERR RIFA A 2,599m 2[E] 5197 |zeuro1 x2

{EAR XA A REE 473m 2[a] 946m

{EAR XA &% 2,126m 1[3] 2,126m

BERERE AAB 2,599m 3] 2,339 [z#vho3x3

FRIRE EENE 2,599m 1[0 779m [Rtvroax 1
A E R g FERRE AR 24m 3[a] 14m |R#ro2x3

Hh 4% $8 e AE BB (2:1) 24m 1[3] 24m
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